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A manufacturer supplies DVD players to retailers in batches of 20. It has 5% of the players
retatned because they ate faukty.

(#) Wiite down a suitable model for the distribution of the number of faulty DVD players

in a batch.
@
Find the probability that a batch contains
(b} no faulty DVD players,
@
(¢} more than 4 faulty DVD players.
@

{d) Find the mean and variance of the numbcer of fauity DVD players in & batch,
@
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[image: image2.png]1. A bag contains a large number of counters of which 15% are coloured red. A random
sample of 30 counters is selected and the number of red counters is recorded.

(a) Find the probability of no more than 6 red counters in this sample.
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[image: image3.png]5. A factory produces components of which 1% are defective. The components are packed.
in boxes of 10. A box is selected at random.

() Find the probability that the box contains exactly one defective component
@

(b) Find the probability that there are at least 2 defective components in the box.
®

(©) Using a suitable approximation. find the probability that a batch of 250 components
contains befween 1 and 4 (inclusive) defective components.
@
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[image: image4.png]5. Sue throws a fair coin 15 times and records the sumber of fimes it shows a head.

() State the distribution to model the mumber of times the coin shows a head.

Find the probability that Sue records

(b) exactly 8 heads,

(© atleast4 heads.

&)
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[image: image5.png]2. The probability of a bolt being faulty is 0.3. Find the probability that in a random sample
f 20 bolts there are

(@) exactly 2 faulty bolts.
@

(b) more than 3 faulty bolts.
@

‘These bolts are sold in bags of 20. John buys 10 bags.

() Find the probability that exactly 6 of these bags contain more than 3 faulty bolts
3)
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[image: image6.png]2. The random variable J has a Poisson distribution with mean 4.

(a) Find P(J > 10).
@

‘The random variable K has a binomial distribution with parameters n = 25, p = 0.27.

(b) Find PK < 1).
@




[image: image7.png]3. For a particular type of plant 45% have white flowers and the remainder have coloured
flowers. Gardenmania sells plants in batches of 12. A batch is selected at random.

Calculate the probability that this batch contains

(@) exactly 5 plants with white flowers.
®

(b) more plants with white flowers than coloured ones.
(]

Gardenmania takes a random sample of 10 batches of plants.
(o) Find the probability that exactly 3 of these batches contain more plants with white

flowers than coloured ones.
®
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[image: image8.png]A manufacturer produces large quantities of coloured mugs. It is known from previous
‘records that 6% of the production wil be green.

A random sample of 10 mugs was taken from the production line.

(2) Define a suitable distribution to model the mumber of green mugs in this sample.
(]

(b) Find the probability that there were exactly 3 green migs in the sample.
®




